oo = == == ==[1[]

00 0000000010 00000000000000000000
ooo@on)

goo:

000 : 2022/11/3 14:01:57

oooo

O000000001110100120 0000 011100078170 0000
oo0oo0ooooooooo@ooooo)a
(O)OoOooouoooooooooeOUOOOOODOOOODOODOODOOOOODOOOOODOO
oooooooooo
(O)H)OoOooOoUoDoOoolui01k020@o0)dliioi12020(@u0)ooouooo40o@o
oOoio)yoooooooooogooooog

(O ooooooooooooooo

goooooooooao

0000000 bO0oD000DO00DOO00b0oDo0oDoo20005000000000@OOOO
Ghttps://forms.gle/4HL3rZueylo3e9k5) 0 0 000000000 DODOOOOO0O600 O
000000000000 0000100050000000000 thetp://ww. jgjhs.tyc.edu.tw/
YD OOOOoOoOd (https://www. Isjh.tyc.edu.tw/ OO OOOCOOOOOOO
0000000000000 1I000000000000000000000000D0 0O 03-357269901
061106130 O

http://163.30.202.2 2024/5/21 8:13:10 - 1


Ghttps://forms.gle/4HL3rZuey1o3e9k59
http://www.jgjhs.tyc.edu.tw/
https://www.lsjh.tyc.edu.tw/
http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

